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ECRITURE SCIENTIFIQUE. - https://www.toupty.con

Classe de 4°¢

Exercice 1

Compléter par le nombre qui convient :

1. 4017 = 4,017 .o.... ... >3.
2. 7.207X o.o.n.. .. = 72070 >4.

Exercice 2

Compléter par le nombre qui convient :

»1. 21020 =2,102% ......... »3.
»2. 4509%..... = 0,0004509 >4,
Exercice 3

Compléter par le nombre qui convient :

»1. 9,006x....=0,00009006 »3.
»2. 9,096% ....... = 0,090 96 4.
Exercice 4

Compléter par le nombre qui convient :

1. 45X ...l = 0,045 »3.
»2. 5,067 .......... = 5067 »4.
Exercice 5

Compléter par le nombre qui convient :
»1. 2019%x ....... =0,02019 »3.
»2. 0,06401 =6,401% ....... »4.
Exercice 6

Compléter par le nombre qui convient :
»1. 7,024x ........ =0,7024 »3.
»2. 3,5%X..... = 0,000000 035 »4.
Exercice 7

Compléter par le nombre qui convient :
1. 3,074x ........ =0,3074 »3.
»2. 2903x.... =0,00002903 »4.

160600 = 1,606% ........
0,007809 = 7,809% ......

3,005% ...onn... = 300,5
9,705% ........ =0,9705

0,000061 =5,1% ........
0,000 003 062 = 3,062x ..

2088000 = 2,088 ......
9,204%.... = 0,000 09204

607,7 = 6,077X «vvvvn...
1,033%..... = 0,000103 3

66,02 = 6,602% ..........
2080 = 2,08% . .vvrnn..

40630 = 4,063% . ........
40300 = 4,03% .. ...... ..
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»5. 0,5909 =5,909x ........
»6. 1041000 =1,041x ......

»5. 6,050% ...... = 6059 000
»6. 304,7 =3,047x . .........

»5. 4,608x ..... = 46 080000
»6. 2108 =2,108x ..........

»5. 0,07031 = 7,031% .......
»6. 0,001037 = 1,037x ......

»5. 8050000 = 8,05%........
»6. 3,806% ........ =0,3806
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